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2A:
T X g ®l
el (e &
S - HIRA - of v e HIDE2
tH=MwE 60,000
o 74,880 72,264 2,616
JdHHEE=H 2 X 47,880 44,966 2,914
STET HdHHES 47,880
MBS XIMBE xR 27,000 27,298 VAVESS]
ddgsx2 g & 21,000
OUERXIEXt A 6.000
PN 493,705 334,657 159,048
201 er23 | 2,000 0 2,000
01 At2teltl 2,000 0 2,000
ONd =L R 2,000
308 AHXIEMSOIE 429,705 334,657 95,048
01 HAHHBSEEXS 415,905 323,617 92,288
OO &l e 362,271
OXSHN gl H A 22,234
OMZHE HHS 41,400
13 3J1&s 13,800 11,040 2,760
OMZHH HES 13,800
403 At 62,000 62,000
01 Xt S 62,000 62,000
HEHE JISEZH A 42,000
HealE JIs22 A 20,000
M 4,784,905 4,669,049 115,856
s 3,903,523
s 881,382
4,784,905 4,669,049 115,856
= 3,908,523
[ 881,382
x= 4,233,917 4,151,475 82,442
28 4,233,917
[ 3,628,029
= 605,888
ICHet B &S AEHI 550,988 517,574 33,414
die X¥2d 560,988
= 275,494
S 275,4%
SRS EN 177,992 226,761 A48, 769
Jl 177,992
308 AXIHMSO0IA 177,992 226,761 A\48,769
7l 177,992
01 XN BSEES 177,992 226,761 A\48,769
OBHHEHIHS A 177,992
— 3 —




A HEEEMN
B olMS2INY U =X BE ®Y
CH2lr A& =K EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | | 177,992
Cteret JH=0l thet X3 63,816,017 51,486,957 12,329,060
= 22,309,306
= 1,000,000
7l 30,566,655
= 9,940,056
SHRIIIEXA 722,420 935,340 A212,920
308 XXM SOl 722,420 935,340 A212,920
01 XN BELES 722,420 935,340 A212,920
OAMUEZa YL+ 62,340
OIS dEor™g X 660,080
SHRZ2IIE SXAE X2 374,191 346,585 27,606
201 fet=3| 2,500 0 2,500
01 At 22|l 2,500 0 2,500
OsIRIIIE=RAIE Bot=E 2,500
308 XXM SOIA 371,691 346,585 25,106
01 AXEHB 2 LS 371,691 346,585 25,106
ORRIE=ANAE HHsHEs 22 1,640
OstRRIIESAAE E41 NHEEES 2,880
Ot RIIESAAE SAHL SIS AH X
el 5,607
OtRZ2IE=SXAIE SAHL MM EH| 13,464
OsRIZIIE=IANE 29 348,100
SHRIIENS &sHl S X& 28,255,500 24,714,000 3,541,500
Jl 25,116,000
< 3,139,500
308 AHAIEMSOIE 28,255,500 24,714,000 3,541,500
Jl 25,116,000
= 3,139,500
01 HAHHBSEXS 28,255,500 24,714,000 3,541,500
OetRE2ItE HH2L=H = N& 28,255,500
Jl 25,116,000
= 3,139,500
FAERR SX=s0 X2 168,750 342,000 173,250
Jl 150,000
== 18,750
308 AXIHSOIA 168,750 342,000 A173,250
) 150,000
< 18,750
01 HAHHBSEEXS 168,750 342,000 173,250
OFad aR2 SXs0 X 168,750
Il 150,000
= 18,750




A HEIEZAL
M gl o =X 2E &N
CHel: Ciehst JI=0l Oiet Kig (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
DIE2lf S s2201=5 NEXE 2,000 5,700 A3,700
308 XXM SOIA 2,000 5,700 A3,700
01 XN B2 LS 2,000 5,700 A3,700
OlIEZ2® S &cl8AM &8N 2,000
SIREIIESAAE 240 d82= X 32,300 38,250 A\5,950
) 19,000
= 13,300
308 AtAIEMSOIE 32,300 38,250 A5,950
Il 19,000
= 13,300
01 RSN EES 32,300 38,250 A5,950
ORR2IE=SAAE AT o528 X 32,300
Jl 19,000
=S 13,300
SIRRILE LU (SSEEINEE) FHA 105, 152 83,85 21,296
) 105,152
308 XXM SOIA 105,152 83,856 21,296
Jl 105,152
01 HAHHBSEEXS 105,152 83,856 21,296
OstR2I1E LU= =HIA 105,152
Il 105,152
SIRLIIESAANE JIsEZ 12,344 56,916 N44.572
Jl 7,261
< 5,083
403 AXIEHMSA=01d 12,344 56,916 N44,572
Il 7,261
= 5,083
01 MXISHH A =22 E 12,344 56,916 N4 572
OstRRIIIE=EXAE JIsES 12,344
Jl 7,261
= 5,083
SIRIIIE=SIIALE O0ISSAHIA X 50,258 116,528 66,270
Jl 38,660
[ 11,598
308 AXIHS0IA 50,258 116,528 66,270
) 38,660
== 11,598
01 X SHHBAEXS 50,258 116,528 66,270
OetRZIIE=XAIE O0I=SAHIA X3 50,258
Il 38,660
= 11,598
SIRIIIESXIAIE HIX AIZSR2 R s3] XA 49,890 19,088 30,802




A HEIEZAL
M gl o =X 2E &N
CHel: Ciehst JI=0l Oiet Kig (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 49,890
308 AXIHSOIA 49,890 19,088 30,802
Il 49,890
01 XN BELES 49,890 19,088 30,802
OstRZIIE=XAIE Xl AtelS223 ¢
34l K& 49,890
) 49,890
JIEMH Y HAIE XL 2 (A2) 5,336,637 4,024,371 1,312,266
Jl 4,105,105
== 1,231,532
308 AtXIEMSOIE 5,336,637 4,024,371 1,312,266
) 4,105,105
< 1,231,532
01 HASHHBSEEXS 5,336,637 4,024,371 1,312,266
OJSAE(ALIE R JHH) 29 4,892,661
Il 3,763,585
= 1,129,076
OAZIEXAHE 2Y 443,976
Jl 341,520
=S 102,456
10101+ K& 10,000 444,500 434,500
403 MR HHMSAHE01H 10,000 0 10,000
01 MHXIHH A =222 10,000 0 10,000
o120t 23 U0 AIE JISEH 10,000
IS Atel3td X 15,000 15,000 0
308 AtXIEHMSOIE 15,000 15,000
01 AXEH B EES 15,000 15,000
ORF9 & &AL XI& 15,000
orol=sSXE 25,197,481 17,452,795 7,744,686
= 22,086,271
s 3,111,210
307 elzto| & 623,222 595,324 27,898
= 311,611
[ 311,611
03 PIZHNEE 22X 623,222 595,324 27,898
OO0l==Z XN 29 623,222
= 311,611
= 311,611
308 AHXIHMSO0IA 24,574,259 16,857,471 7,716,788
= 21,774,660
S 2,799,599
01 AXNB 2 LS 24,574,259 16,857,471 7,716,788
OotoI=sXE 24,574,259




A HEIEZAL
M gl o =X 2E &N
ot Crerst R0l et X1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 21,774,660
=S 2,799,599
SS=0LlsH 29 1,463,380 1,520,660 N57,280
Il 975,587
< 487,793
308 AXIHSOIA 1,463,380 1,520,660 ~57,280
Jl 975,587
= 487,793
01 X SHHEAEXS 1,463,380 1,520,660 A57,280
O3=s0tl=sH 2% 1,463,380
Jl 975,587
= 487,793
FAHERLD ots&=H X2 117,000 156,000 39,000
= 90,000
== 27,000
308 AXIMSOIA 117,000 156,000 39,000
= 90,000
< 27,000
01 HAHHBAEEXS 117,000 156,000 A39,000
OHAERR ots2=H| X 117,000
= 90,000
= 27,000
SHET JIEMH 480,000 459,600 20,400
307 glztol & 480,000 459,600 20,400
05 2ItRIE =2 480,000 459,600 20,400
OSEEE =4 480,000
UYL & ESEM A8012 29 X 190,050 0 190,050
= 133,035
== 57,015
307 gl2to| & 190,080 0 190,050
= 133,035
= 57,015
10 Al SXAEEE 22X 190,050 0 190,050
ORJIgal & B4 &2 29 N2 190,050
= 133,035
= 57,015
Al JIE4EH HE 1,000,000 0 1,000,000
= 1,000,000
403 AXIEHHSAH=201d 1,000,000 0 1,000,000
[ 1,000,000
01 A= 2L 1,000,000 0 1,000,000
OYdAl JIEHH HE 1,000,000




A HEIEZAL
M gl o =X 2E &N
ot Crerst R0l et X1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 1,000,000
JIEEAE & AZIIEXNEE SAL M08l 8 233,664 0 233,664
AZAHl, 1Al =K
308 XXM SOIH 233,664 233,664
01 AX N B2 LS 233,664 233,664
OINSHE, ANBTAHE BAX XL
Hedl, dARsAH|, 18] FIHKIEA 233,664
geld2s & o 9,699,550 9,141,094 558,456
= 44,815
Il 5,376,607
= 4,166,128
= 112,000
ZHUHA SEAEX2ME 29 X2 110,000 300,000 190,000
== 33,000
= 77,000
201 =3 110,000 0 110,000
< 33,000
= 77,000
01 At2teltl 40,000 0 40,000
OZ&llchiAt 25 - NFAIE )t & 248 40,000
= 12,000
= 28,000
02 S3=gHl 70,000 0 70,000
OFHUHA XA S8 MalHs 25 70,000
=S 21,000
= 49,000
LA 25 - XNJAIE SAKA MRS 1,111,368 915,143 196,225
307 lztol & 432,592 248,000 184,592
10 Al2ISTIAIEEE 22X 432,592 248,000 184,592
O Uit 25 - XHAIE SALKE XM
H(%) 432,592
308 AXIMSO0IA 678,776 667,143 11,633
01 HXHHBAEES 678,776 667,143 11,633
OZHUIohA 25 - XNIFAIE SA M2
H(AIZ) 678,776
ZH0Y L AILSAEL AM0EXE ALS 10,000 53,680 A\43,680
308 AFAIEHMSOIH 10,000 10,000 0
01 AXEHB 2 LS 10,000 10,000 0
OJtE=g tlgs <8 2ol HIAEE 10,000
== ¢X & Do Xt 369,353 381,232 A11,879
307 elztol & 15,000 20,000 25,000
10 Al SXAAIEEHE 22X 15,000 20,000 /5,000
OZUHA 28(%) 15,000




-

-

A HEIIIEE L
M HdsEHeY 2 =X 25
el EQAES & ol (&9 A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 344,353 331,232 13,121
01 XN BELES 344,353 331,232 13,121
OIZBIHH™ 24 (A2) 102,243
O=glloiags 248 Xd 242,110
403 AXIEHHSAH=Z01d 10,000 30,000 220,000
01 MHXIHHA 22X 10,000 30,000 220,000
OZHIUlolA ESXEAE JIsEH 10,000
od2=583 1366HE 2SS X 850,222 721,604 128,618
Jl 400,111
=S 415,111
= 35,000
307 21201 & 850,222 721,604 128,618
Jl 400,111
= 415,111
= 35,000
10 Al SXAZEE 22X 850,222 721,604 128,618
O0E=d3E 13664 2SN 800,222
Il 400,111
T 400,111
O==UIoAt &EXE AAE 2g 50,000
& 15,000
= 35,000
A=A 1366HE 2SN (DISER) 44,634 25,000 19,634
) 22,317
< 22,317
402 2IZtA=01A 44,634 25,000 19,634
Il 22,317
= 22,317
02 RIENESASEZ(0IETHR) 44,634 25,000 19,634
O &2sd3 1366HE JIsEd 44,634
7l 22,317
= 22,317
HE=Egaga 29 X 1,151,578 994,413 157,165
Jl 767,719
< 383,859
308 AXIHSO0IA 1,151,578 994,413 157,165
) 767,719
& 383,859
01 HASHHBSEXS 1,151,578 994,413 157,165
O =8aE84 28 & 1,151,578
Il 767,719
= 383,859
— 9 —




SN OEIIEE D
B olMS2INY U =X BE ®Y
ol dEelAES & ol (e
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JHEZE oA 2l=H K& 32,879 32,920 A4
Jl 25,400
== 7,479
307 el2to| & 13,572 12,000 1,572
) 9,500
< 4,072
1 AMISXAIEEXS 13,572 12,000 1,572
OIS ZHTIGHA 2=Hl XI(E) 13,572
Il 9,500
= 4,072
308 XXM SOIA 19,307 20,920 1,613
Jl 15,900
=S 3,407
01 XN BSELES 19,307 20,920 21,613
OJIEZZTai X 22| XI&(Al2) 19,307
Jl 15,900
[ 3,407
I ZHTHA ESAE 2SR (AI2) 1,105,775 1,044,381 61,3%4
Il 905,672
= 200,103
308 AHXIHMSO0IA 1,105,775 1,044,381 61,3%4
7l 905,672
= 200,103
01 AXEH B2 LS 1,105,775 1,044,381 61,3%
OJId==Tlch A El AKX MHEXES 74,375
Il 61,250
== 13,125
OIS =oAL MNP E et 6,128
) 5,047
= 1,081
OJMNEZHIHNESAIE HI=Z X A 66,153
Jl 54,479
= 11,674
OJIE=ZE1oiAt 2SAlE 2SXE 959,119
Jl 784,8%
[ 174,223
IR EEIIGHA 2SAIE 2SR (AMZ/IISEZ) 61,106 27,855 33,251
Il 40,737
= 20,369
403 AXIEHHSAH=201H 61,106 27,8% 33,251
7l 40,737
= 20,369
01 AR A =2 £ 61,106 27,855 33,251
— 10 —




A HEISEM
M pasSIlY o =X 2E &N
o°Helr HyoAES & M- (&2 &
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OIS =ZIoHA ESAIE J|IsE2 61,106
| 40,737
= 20,369
ZATIHHAE =HXZAY 2SN A 75,609 70,006 5,603
| 62,266
& 13,343
308 AXISHMSOIA 75,609 70,006 5,603
| 62,266
& 13,343
01 AXSHHBNEXRS 75,609 70,006 5,603
OFgIiHE F=AHX2 2SN A 75,609
| 62,266
= 13,343
ZSTIHHAE FHXIE LdUHESS 3,366 1,660 1,706
J| 3,366
403 KX SHHS 201X 3,366 1,660 1,706
| 3,366
01 AXISHHA2EE 3,366 1,660 1,706
ZHIHHYE =HXE LdUHEE2 3,366
| 3,366
JHEZGIoiA X3 =E2 )82 113,530 113,530 0
J| 93,49%
& 20,035
308 AXISHMSOIA 113,530 113,530
| 93,49
& 20,035
01 AXSHHBMEXRS 113,530 113,530
OJIE=ZZIIoHA g sE2 03 22 113,530
| 93,495
= 20,035
AEZTIGHA X 210,352 150,700 59,652
| 107,176
= 103,176
307 QI2tol 210,352 150,700 59,652
| 107,176
& 103,176
10 Al = XA EHE2FHIE X 210,352 150,700 59,652
OAE2TIHA 2IZF=HKIZ 200,352
| 100, 176
& 100,176
OAE2NHA XZ3=ESE=2 0 10,000
| 7,000
= 3,000
— 11 —




SN OISR
M HdsEHeY 2 =X 25
CHel OlHOIAES U ol (ol
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ofitetd e 2S X2 1,350,000 1,160,493 189,507
Jl 945,000
== 405,000
307 el2to| & 1,350,000 1,160,493 189,507
) 945,000
< 405,000
10 AlISAAZEE 22X 1,350,000 1,160,493 189,507
Odlidied|de 2" X 1,350,000
Il 945,000
= 405,000
obtetIIMIE 2EHd 32,000 32,000
307 glztol & 32,000 32,000
10 Al2ISTIAIEEE 22X 32,000 32,000
OofitetI|dliE o gHl Ot 32,000
ofibtetd|dy JIsEd 58,000 40,000 18,000
) 13,000
< 45,000
402 2IZtA=01d 58,000 40,000 18,000
Jl 13,000
= 45,000
01 RIENSA S E X (XM THR) 32,000 40,000 28,000
OdtibtetdIdE JIs22H(S) 32,000
02 QI TH2AILEE (01X THE) 26,000 0 26,000
Odlbe|&Ee J1s8Y 26,000
Il 13,000
s 13,000
SZH0oi A4 ROHIE, Aesd, S=HIE K& 52,810 59,100 26,290
Jl 36,970
== 15,840
307 @120l & 52,810 59,100 26,290
Il 36,970
= 15,840
11 AMRISXAEEES 52,810 59,100 26,290
Od =TI A SUHISXIA (BBt IaH) 9,000
7l 6,000
= 3,000
Od=HTUoHAt AZSHRA (bt HEH) 43,810
Jl 30,970
[ 12,840
4= Ul &84 2SN 1,089,943 1,009,461 80,482
Il 726,629
= 363,314
— 12 —




2A: HAIIEZ A
M (EsEHY & =X 23 &M
o°Helr HyoAES & M- (Et:
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
308 AHXIHM SO & 1,089,943 1,009,461 80,482
| 726,629
= 363,314
01 X SHHBLEERS 1,089,943 1,009,461 80,482
OdZ4 Iloll 4= 2SN 1,089,943
J| 726,629
= 363,314
SAELIIHNESAIE XA 306,605 282,926 23,679
| 253,228
& 53,377
308 AHXIHM SO & 306,605 282,926 23,679
| 253,228
= 53,377
01 AXIEH B AExS 306,605 282,926 23,679
O =TI ESAIE HI==Xt MAHl S
K& 13,064
J| 11,489
= 1,575
Od=ZdIloiAIE2ESAld 2H XA 293,541
| 241,739
& 51,802
AZSTIGH A 22|, 2HEH] XI& (=) 47,598 111,831 264,233
| 30,414
= 17,184
307 212+01 ™ 47,598 111,831 A64,233
J| 30,414
= 17,184
11 A= XA & 47,58 111,831 A64,233
OSZ=Tol A Q28I X (cHbretodIE]) 47,598
| 30,414
& 17,184
SAZHEIGHA 22|, 2] X2 (AlZ) 23,51 23,511
| 19,362
= 4,149
308 AHXIHM SOl 23,511 23,511
| 19,362
= 4,149
01 IXSHHBAEERS 23,511 23,511 0
OS =X S 2HIXIZ (AI2) 23,511
J| 19,362
= 4,149
=00 AF X 22=Z2 08 29 47,965 86,469 A38,504
| 39,500
— 13 —




SA: Ol
M HdsEHeY 2 =X 25
ciel oidoIAES U o (el &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,465
308 XXIHMSO0IA 47,965 86,469 A\38,504
Il 39,500
= 8,465
01 AXEH B EES 47,965 86,469 A\38,504
Od=Z4Ioikt XZSE2 ] 2 47,965
7l 39,500
= 8,465
CXE d8x SstZz 08 KA 94,932 85,000 9,932
Jl 47,466
< 47,466
307 @12+0| & 94,932 85,000 9,932
) 47,466
& 47,466
11 AMISXAIEEX 94,932 85,000 9,932
OUXE 88z Sstzz08 X3 94,932
Il 47,466
= 47,466
CIANELBA LoHXd HENEZY & &g 29 5,200 6,070 AB70
308 XtXIEMSO0IE 5,200 6,070 AB70
01 XN B2 LS 5,200 6,070 AB70
OUXEE=E LloiXd gEA=H 29 5,200
CXELEA HEWs 40,000 40,000 0
307 elzto| & 40,000 40,000 0
1 AMEISXAEEXS 40,000 40,000
OUXE&88z Hgus 40,000
SOHOHIIOHAH XIZAIE & o8 29 215,427 393,222 A7,79%
Jl 226,822
= 48,605
308 AFAIEHMSOIE 275,427 393,222 A7,79%
7l 226,822
= 48,605
01 XN B2 LS 215,421 393,222 A7,79%
O&OHOHIIOH A+ KIZAIE & &g 2 275,427
Jl 226,822
== 48,605
SOHOHIION Kt =X 40,078 49,594 N9,516
Jl 33,006
= 7,072
308 AtXIEHMSOIE 40,078 49,594 N9,516
Jl 33,006
= 7,072
— 14 —




|.

A HIEE R
33 odsgNe & sX g5 M
el EQAES & ol (&9 A
SA - B - 9(SH) - NIRAY - B8R Ol & A HlmE2t
01 HXSHH B E2ES 40,078 49,594 19,516
O&OHORIIOH AH =X 2AHY 40,078
2l 33,006
(= 7,072
SOHOH TISHOtS - HAE SEXJ (NG X HE 130,706 125,530 5,176
29)
) 65,353
< 65,353
307 2Ito1d 130,706 125,530 5,176
pJ 65,353
< 65,353
10 Al SXAEEHE2EHI 22X 130,706 125,530 5,176
OH0H0H Tolots - H4AHE SEX(XSEA
EHH 29%) 130,706
2l 65,353
[ 65,353
ZH5Uol 0108 EsAld 22 395,665 361,898 33,767
) 325,842
< 69,823
308 XFXIEME0IH 395,665 361,898 33,767
) 325,842
< 69,823
01 RSN B EES 395,665 361,898 33,767
O=gllol Ol1F0d 2SAI4 2SN 395,665
Il 325,842
< 69,823
Z20IoH OlIF0E ESAIE 882 8,609 1,530 7,079
Jl 7,090
< 1,519
403 AXIEHHSAH=201H 8,609 1,530 7,079
) 7,090
< 1,519
01 AXESM A 22 8,609 1,530 7,079
O==llol 0IF0E ESAIE AL 8,609
pJ 7,090
< 1,519
ZE Lol Ol=0d e 28X 267,99 247,806 20,193
2l 178,666
[ 89,333
308 AHAIEMSOIE 267,99 247,806 20,193
) 178,666
< 89,333
01 AXEHH B EES 267,99 247,806 20,198
— 15 —
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A HEIIESZEAMY)
al

B HAE P95 U 54
el Al geEbigdst (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 526,692
= 526,692
308 XtXIEMSO0IH 3,160,153 3,578,828 418,675
Jl 2,106,769
== 526,692
= 526,692
01 RSN B EES 3,160,153 3,578,828 A418,675
OFAYE ¢t= 0PHHI0l 2 (NSEH) 3,160,153
Jl 2,106,769
=S 526,692
= 526,692
F4E 2= OBHHIOI SAEL XM 25,434 26,127 2693
308 XXM SOIA 25,434 26,127 AB93
01 XN B2 LS 25,434 26,127 A\693
OFaE L= O30l SAHAH XMIHA
] 25,434
Hadxe ML 2 XN 60,500 37,050 23,450
= 40,500
= 20,000
308 AtXIEMSOIE 60,500 37,050 23,450
s 40,500
= 20,000
13 SI[2S0He & EAS A 60,500 37,050 23,450
OFaE XN 9,500
OFAYE XHALE S5t Z2ME(NSHH) 40,000
= 20,000
= 20,000
OFAHEIIF Edat K& 11,000
dad - HEES NE 754,000 438,400 315,600
307 @I2t01 & 10,000 0 10,000
11 AMISXIAIEEX 10,000 0 10,000
OAINRE U gz X 5,000
OZAIISE 2 oigHT X8 5,000
308 AHXIEMSOIH 360,000 438,400 AT8,400
01 HRSHH B EES 216,000 249,400 A\33,400
OOIEZz| Otat X2 HAE BN SR Z
thal 12,000
OFAE AAZEY 20,000
OOtAAl BAE A2 - Jsh 2278 2H 25,000
OF4d stuEs olgd A =H0te R0l
k=] 13,000
OYTAl EAHE =5 3943 15,000
OXlRel B XNAHF= detd FaE=H 25,000
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A HEIEZAL
B ZAd ©5 2 84
Bl FAE At (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 57,000 57,000 0
OFTEL Fad eS8y Z2HE 57,000
HAHHAIE A (HEAY) 1,395,000 600,000 795,000
403 MR HHMSAHE01H 1,395,000 600,000 795,000
01 MHXIHH A 222 1,395,000 600,000 795,000
OLYdAl A et HE 1,230,000
OR0z F4adrdd 2UMS2 2HE 165,000
SSELAESHAIE SAL MRS X 76,959 73,710 3,249
308 XXM SOIA 76,959 73,710 3,249
01 AXNBEES 76,959 73,710 3,249
OSSE2ETEANE SAL MIHEHl X
& 76,959
BAESHAL XS AL HIX] X2 A 173,493 201,425 N27,932
Jl 173,493
308 AtXIEMSO0IE 173,493 201,425 N27,932
Il 173,493
01 X HHNBAEXS 173,493 201,425 N27,932
OFALEHSHEAEX AL BIXI KA 173,493
Jl 173,493
a4l NHEXA & BES 11,471,958 10,555,243 916,715
= 736,834
Il 6,199,792
== 3,908,492
= 626,840
?01 Had XA 2,148,955 1,817,094 331,861
7l 121,352
= 1,640,603
= 387,000
308 AFAIEHMSOIE 2,148,955 1,697,094 451,861
Il 121,352
= 1,640,603
= 387,000
01 HXHHBAEES 710,045 422,316 287,729
OAlZ Ead dESXMHH A 70,000
OAlZ EAEAYSX(51 H)HIE SAHK
ySEPLFalll 57,085
OAlZ SRHEAETAME At FE(L
FEH) 84,000
= 42,000
= 42,000
O0ts a4 D= & 48,960
OAIZ & 8 NaASIE(NSEH) 400,000
< 200,000
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RGBS En'
HE: HAH 25 Y
2

ol FaE NEE & 25 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

308 XXM SOl 549,788 456,326 93,462
Jl 274,8%4
== 274,8%4

18 SIS0t HAS A 549,788 456,326 93,462
Ok 44 SSXNMA F5 549,788
) 274,8%4
& 274,894

NSAtS] FAESEXNHMA F=(AZ3E) 1,017,010 761,805 255,205
Jl 1,017,010

308 AXIHSOIA 1,017,010 761,805 255,206
) 1,017,010

01 AXEH B2 LS 1,017,010 761,805 255,206
OAlz Ead SEXZHA 2= 1,017,010
Il 1,017,010

BAESUA 220 23(%) 75,148 70,768 4,380
Il 37,574
= 37,574

308 XXM SOIA 75,148 70,768 4,380
Il 37,574
== 37,574

18 SIS0t & A AS A 75,148 70,768 4,380
T Eay SEA Z208 24 75,148
Il 37,574
== 37,574

HAESEI T2 2 (AZ234) 671,841 775,568 A103,727
Jl 516,801
= 155,040

308 AFAIEHMSOIE 671,841 775,568 A103,727
7l 516,801
= 155,040

01 XN BELES 671,841 775,568 A108,727
OAlz Ead S8 2 1d 2Y 671,841
Jl 516,801
== 185,040

FO Hald SEXNE 260,700 252,500 8,200
Il 260,700

308 XtXIEMSOIH 260,700 252,500 8,200
Jl 260,700

01 XN B EES 260,700 252,500 8,200
O%D Ead SEXZ 260,700
7l 260,700

st gt HaE X(%) 760,704 751,308 9,3%
Il 269,993
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2A:

B ZAd ©5 U 84
o2l EaE UEXNE 2 Bs (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,500
=S 3,500
307 lztol & 7,000 8,000 21,000
= 3,500
== 3,500
11 AMEISXAIEEXS 7,000 8,000 1,000
OFadRMN2AB AT ZHE XA 7,000
= 3,500
& 3,500
HAHGEsHH 22(2) 519,156 598,118 AT8,962
Jl 259,578
= 259,578
307 212+01& 173,052 183,336 10,284
Jl 86,526
=S 86,526
11 AMEISXAEEES 173,052 183,336 10,284
OFFEL 0I5€ FLHYEsH 29 173,052
Jl 86,526
[ 86,526
308 AtAIEHMSOIE 346,104 414,782 N\68,678
Il 173,052
= 173,052
13 SI[2SOHe & EAS A 346,104 414,782 68,678
OSTEE 18d FAHdEHHH 29 346,104
Jl 173,062
= 173,052
HFAEHESHIH s 22 & X2 73,920 72,000 1,920
307 elztol & 21,120 19,200 1,920
11 AMEISXAIEEXS 21,120 19,200 1,920
O0Isg 34ad42stdH SXtg N2 21,120
308 AtXIEMSOIE 52,800 52,800
18 SISt HAS A 52,800 52,800
OLEE FAHHE2HH SXtg X3 52,800
HAEAHLXIR () 855,400 652,200 203,200
= 658,000
= 197,400
308 XXM SOIA 855,400 652,200 203,200
= 658,000
== 197,400
01 XN B2 LS 855,400 652,200 203,200
ONgdEaE Hels=2 Nd 855,400
= 658,000
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RGBS En'
HE: HAH 25 Y
2

ol FaE NEE & 25 (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
| = 197,400
St Y HAUE X2(24) 306,289 267,219 39,070
| 105,729
& 173,780
g2 26,780
308 AXISHMSOIA 306,289 267,219 39,070
| 105,729
& 173,780
£ 26,780
01 IXSHHBLEERS 306,289 267,219 39,070
OAlZ & & F4E AT (NSEH) 159,289
J| 105,729
= 26,780
£ 26,780
OO0I21Dt tHetn I |2 SAXE 147,000
EaFAYE NEXHSY 108,000 24,300 83,700
| 54,000
& 54,000
301 LB F 108,000 24,300 83,700
| 54,000
& 54,000
01 Al B&X2HZ2(2REERTA) 108,000 24,300 83,700
O&H 48443 MR 108,000
| 54,000
T 54,000
HAEAE ASIER2F HIXIXIA 207,441 178,000 29,441
J| 207,441
308 AEXIHMSOIH 207,441 178,000 29,441
| 207,441
01 XIXISHHBAE LS 191,436 167,439 23,997
OHEALAEAE(AIZ) AMSIER2QE HIXIXIE 191,436
| 191,436
13 BI |2 SOICHEH B A X LE AL 16,005 10,561 5,444
OFAEANE(Z) NIERLS BIXIXE 16,005
| 16,005
HAAHEZSHEE HRME K& 61,392 61,392 0
307 212+01™ 21,056 21,056
11 Al =SXAMEES 21,056 21,056
O0l=8 EaFd2eH HHadl XI& 21,056
308 AXISHMSOIA 40,336 40,336
13 BI 12 SOICHEHE A X LAE AL 40,336 40,336
OLNEe FAEUHReIH MSHedl XA 40,336
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2A:

Hu: Fad 25 9 54
ol FaE NEE & 25 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CIXIE0ICIN Lo MgaiE Ak BiX 95,557 90,460 5,097
= 57,334
== 38,223
308 AHXIEMSOIE 95,557 90,460 5,097
= 57,334
< 38,223
01 HASHHBAEEXS 19,111 18,092 1,019
OAZ CINEO0ICIOl T8 HAE N &e
= AL X 19,111
= 19,111
18 SIS0t AS A 76,446 72,368 4,078
OL CXEZE0ICIH Olol #3448 X& A4
EAF HHA 76,446
= 38,223
= 38,223
HeEs(HEIH=EZML) 192,870 139,200 53,670
SENE(0EIHFZEAD) 192,870 139,200 53,670
HEIIEZ20F =bletets 53,670 0 53,670
802 gratsJIEt 53,670 0 53,670
01 =2N2xSEE=s 53,670 0 53,670
OWEIIER20F 2 x3kets 53,670
-sUEXxsttes ddE 51,242
-=1NEXZEtE= 0k 2,428
XN (Ss=38712 XUHL3) Ol Krats 139,200 139,200 0
311 XS0l Rratat 139,200 139,200
02 Sa=8I|&HXL S0l Atatat 139,200 139,200
OFAd eAE HEHAE 139,200
HY2IIHI(HEIIEZEMLL) 67,780 93,120 N25,340
Jl=23HI(HEIEE D) 67,780 93,120 N25,340
JlEZHI (0 dIIEEA M) 67,780 93,120 N25,340
201 er23| 32,000 40,800 28,800
01 At2tltl 32,000 40,800 /8,800
OU4II=dH RN 32,000
202 04t 32,000 39,600 7,600
01 =LHOHI 32,000 39,600 AT,600
OW =SS g 32,000
203 =4 3,780 12,720 A\8,940
M FA2SHIFII 3,780 4,320 A540
O0dII=dx HR=X 3,780
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